AN S5 & LBl IBALaER AR

A7 4 2 HEHT
HEHS &5 |BiLof 2 HHAE fiti% b4
1-5 |[2E XY 0H ABEBEE: 6 BIRY 13,000 | KA (el 1) s
FEAN
1-6 |[CTEXYVDH ABEEF1 2H8HRY 25,0009 | KA (hapsbl k) sk
RANBERES | 2-1 |[53FELLHPS7 1kv b 18,0001
HRREE 3-1 |[DAZYa—R 14xX2RK 6,500F [10H FH1~2H T4
HOHE 5-1 |=71ERBAE (1R2ER %) 110,000
R 5-2 [1&RERRES (1H2EME) 68,000 | 128 ~3H o1 mpiE
6-1 |RETF=F a2 —L2K 6,500/
6-2 |BRAL= T F vy 2K 6,500
6-3 |7 F ¥y 71L& =t ra—L1E 6,500
b~ b O
6-4 |rF % v 73K &<t a—1L3% 17,0009
6-7 |F=F ¥ 2—2180mlx 104 12,000
6-8 | F=F ¥ 2—2180mlX 204 23,500
7 —
g /,} . 7-2 |BfioEY3IBEL Y T 5,500
PR
H{A2KS 9-4 | TN—=RY —FFh) AF#H3 AD 6,500/
10-1 | BRES 28T ¥F—FFY v 2 fHE 16,0009 |4 Ef1~101 T4
10-2 | BRES 1LKTF—FFY v 2fHE 8,500 |44 Lt~10H T4
10-3 |FEV Y —k—Y (F=FV I VL -3K25v ) 16,000/ |poaFn
10-4 | FEDHEY —k—Y (FAr—F—X 3K25v7) 16,0001
Mirabelle
(25 ~n) 10-5 |FEVHEY —2—Y (AnF—X 35257 7) 16,000 | & v ¥
10-6 |REDBEY —k—Y (VBT X - 3K25v 7) 16,0009 | % 2 v ' — ¥ 7k
10-7 |FED MEEY —— 4 T8 (34K 4%y ) 32,000
10-8 | FED MEHY —%— (BXK - 3K2,5v2) 17,000
10-9 | FED By —%—Y (29D BT L« 3K25v ) 17,000
TXWiE 11-1 |1 4E0% (1H2E8M8%) 39,0001
12-1 |B&E#3,000/H5 11,000
HYABLH
12-2 | B &E46,000MH%5> 22,000
Hozx 13-1 [fiSo 7w X 7L — 58,000
14-1 (a7 —%v 72— 1 HAfZ% X 3% 11,000
RoH 14-2 (a7 —% v 72— 1 HAfZ%X 5% 18,000
14-3 a7 —% v 7 zx~—x1HFA A% X108 36,000




